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IStudent: Instructor: Alfredo Alvarez
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1 Solvethe equation. 5 [ e~ L. =7 . fﬁp 5 — /]
KV

gk qﬂ“{f”“‘— I res = S 3" 7 {["”l "'i -LJ Tl %
- o — __._ "{

4 8x +x"=72x-9=0 D/ 2 s (C) /’(’ n;, t} tl cq T} 4,__ r.q 3 ".“,
| The solution set is { b ’)lr’éb ng (: 5 | ‘r T e e

4 _
;{ '}_ A /
‘ (Simplify your answer. Type an integer or a simplified fraction. Use a comma to separate answers" as ded )__i &

—3) & Zx 3 & v75Wf i
, L Answer: 1 23 ,“{y(/) “?2 SR N 6(( F‘)
_:_“__ . E' ™ - (‘j'j I’(” (e _./—""Q - 3 .,3 —
(‘1"6/’ S’]")jz./tﬁtc’ I . g / { i (’ w5 //(._ 1—_1 Z o 4 i__ J

=y (47\/')&__1_;_;_ = ;s 6
I‘W - sx#(=e

Bl = =

" 2. Find the domain of the function.

b f0)=42x-86
|1
The domain is : (Type your answer in interval notation.)

28— = 0
Z//%{ZO 76
2X = 6

I il
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3. For the given functions f and g, complete parts (a)-(h). For parts (a)-(d), also find the domain.

f(x)=4x +1; g(x) =6x =5 (ff 9 W T -
7 LR
(8) Find (f+ g)(x). Lol + 96 ) < L, e,
(f+g)(x) = | (Simplify your answer) C/ /7 ( ) T (6X—5 ) = f; o e )
( —f GX—5 = 4

e 4 G
What is the domain of f+ g? Select the correct choice below and. if nre;cessary fill i in the: ajer box\to complete Your =

choice. Q /O)( <f = ,_,/ .~ I—

) A. The domain is {x| C —5/(%] <
(Use integers or fractions for any numbers the expression. Use a comma to separate
answers as needed.) _ 2 ____/ L/‘) P
(0 B. The domain is {x| x is any real number}. ¢ b —5 ) ’J/ _ TN
( /x’r()"_‘( J#E \
b) Find (f
amnill) ©Find (9. vt — GXAS // ( = ;/-"kr) _
(f-g)(x)= | (Simplify your answena 2, )( ok ( 7

What is the domain of f — g? Select the correct choice bemcessary, fill in the answer box to complete” y’our

choice. (7[;» ; ){;(7 £

O A Thedomalnls{x - } /4?;12 0_/(:‘(/ =
(Use integers or fractions for any numbers in the expression:-Jse-3 comma to separate
answers as needed.) (Cfx’-f()( &= s)

' B. The domain is {x| x is any real number}.

l Y)( ¢ — 20 X Flbx — ¢ (;L}/l«a ad
4@) Find (f* g)(x). ¢ = = g
C29x == 5N —02 (¥),

L__\_‘__'_'———______\______'___,_,_—" _‘..

(fe9)00) = (Simplify your answer.)

i

What is the domain of f+ g? Select the correct choice below and, if necessary, fill in the answer box to complete your choice.

A. The domain is {x| }. (}r)/)() - LA C—S P

(Use integers or fractions for any numbers in the expression. Use a comma to separate ol / - )
answers as needed.) v/ L/‘J X- ’X V3 = ¢ 7
B. The domain is {x| x is any real number}. } - - ! 8
(%) 6¥ =

=
2
G\

¢
(d) Find GJ(x). . //5&)( = / ;*«LL{\ ;(_/ ( 2 . 6}/
i//

f | ,
(5] (x)=| (Simplify yourgnquggr.) 2 ' _ .
CJL}' 1446‘ K|

f
What is the domain of — g —7? Select the correct chmce below and, if necessary, fill in the answer box to complste-your choice

£ 06— < i~
A. The domain is {x| } c'/ /¢ Z/r o i ﬁt {

(Use integers or fractions for any nu Uers | the pressqon Use a comma to separate e
answers as needed.)

B. The domain is {x] X is any real nu

(e) Find (f+g)(2).

20f28 12/16/2019, 10:39 AM
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(f+g)(2)= (Type an integer or a simplified fraction.) / 7‘ = /) ) (/ ) > & 5(7/ C
(f) Find (F- g)(4). (,Lf ){ y/ *’Z(';’/*ﬁ &
a f-g9)4)= [: (Type an integer or a simplified fraction.)

(9) Find (f+ 9)(3).

é (f-9)(3)= :I (Type an integer or a simplified fraction: ‘
(Yeslx)= 2 ¢ —7’7{f—s

/o5)/3) = 29(3) —/57) =S
(§]<1>=:mpe an integerorasimp‘lﬁfﬁ (}j pE= 20 (3)(3) (%)~

Answers 10x -4 )/&'/‘/(3)_ ? Y/ ) ..—/S//}/ ""g
B. The domain is {x|xis any real number:'.o'lb_)_/jb 2 /6 J— §l( p—— g

(7007 [T )=

(h) Find [5] ).

-2x+6
B. The domain is {x| x is any real nuniber}.
24x% - 14x -5

B. The domain is {x| X is any real number}. (./ﬂ ),{/ - __Cf_)_/;/__ﬁ__

4x+1

7
6x-5 j

5
A. The domain is {xl x# o . —/

3 //), k224
S,

169

ID: 1.1.675 {%}//) . T




f(x + h) = f(x)

4.
Find the difference quotient of f, that is, find h

; f(x)=x2—9x+4
f(x + h) - f(x)
i S—

Answer: 2x+h-9

, h#0, for the following function. Be sure to simplify.

/) <x t=5xr

ID: 1.1.83

£ th ) — /&/ )
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5.
Determine whether the graph is that of a function by using

the vertical-line test. If it is, use the graph to find A ‘20) D
(a) its domain and range.
(b) the intercepts, if any.

(c) any symmetry with respect to the x-axis, y-axis, or the AT ;

origin. ,Z,)_J"_ (Zj.;)

Is the graph that of a function?

B

No

If the graph is that of a function, what are the dom Kln and range of !he.functlon? Select the correct choice below and fill in

any answer boxes within your choice. ,. vy ﬂtﬁfq
e _ .)( ////'// il /O'UJ(
ﬁ G, The(domainis [~ 0@,’}« /. The range is

(Type your answers in interval notation.)

B. The graph is not a function.

What are the’unteroepts'? Sele?t the correct choice below and fill in any answer boxes within your choice.

_ _ R N V)t ["i-;y?f
@A, (f&') ‘) ( 2/ o) ( Gy 1) &
(Type an ordered pair. Use a comma to separate answers as needed.)
B. There are no intercepts.
C. The graph is not a function.

Determine if the graph is symmetrical.

-

< ‘:/_A It is symmetrical with respect to the y-axis.
B. It is symmetrical with respect to the origin.
C. Itis symmetrical with respect to the x-axis.
D. The graph is not symmetrical.
E

. The graph is not a function.

Answers Yes

A.The domainis (—o0,00) . The rangeis (-o00,1] .(Type your answers in interval notation.)

A. (2,0),(=-2,0),(0,1) (Type an ordered pair. Use a comma to separate answers as needed.)

A. It is symmetrical with respect to the y-axis.

ID: 1.2.21
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6. Using the given graph of the function f, find the following.

&

50f28

(a) the intercepts, if any

(b) its domain and range

(c) the intervals on which it is increasing, decreasing, or constant Al
(d) whether it is even, odd, or neither

{/\‘/\L : {’( ,,,:,"_Z/% | { .
(@) What are the béercepts? 7/ A \’/"_H’ [(.,& v 4/_ Lyct r""_‘.WI - 4 ’/L e {p

g ST, 00, (o1 Yoy wvj
(Simplify your answer. Type an ordered pair. Use a comma to separate answers as needed.) & & ¥ ? e o B .
(b) The<,oma|n is "I— -, ,( (o Z /e ( r‘(/) //T '

§

P
(Type your-answer in mterval-ﬁotatin'n ) ?

¢/
=P [0, 2] (oo, TOPL | § G e
(Typ your answer in interval notatuon) '?j { -SL ) -

(c) On which interval(s) is the graph increasing? Select the correct choice below and fill in any ; answer boxes within your

choice. g {t\wyl«’)(! e }) :
~g R, : ' == A4 0nion VIV
(5A. The graphi increasing on Z ‘/“; g ? Z‘“) *Bj 9[0"\ @ '» >V

(Type your answer in interval notation. Use a comma to separate answers as needed.L " I’T J/L\ A “-_.f. = ] (9{;\/

B. The graph is not increasing on any interval. —

rd

On which interval(s) is the graph decreasing? Select the correct choice below and fill in any answer boxes within your

choice. L /HULZ g “’""_'If:('n

A, The graph is ecreas/nguné - ‘A f-:( Z O ¢ ]

(Type your answer in interval notation. Use a comma to separate answers as needed.)

B. The graph is not decreasing on any interval.

On which interval(s) is the graph constant? Select the correct choice below and fill in any answer boxes within your choice.

A. The graph is constant on
(Type your answer in interval notation. Use a comma to separate answers as needed.)

TB. The graph is not constant on any interval. N~

(d) The function is (1)

(1) 7 neither odd nor even.
() even.
odd.

12/16/2019, 10:39 AM
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Answers (- 1,0),(2,0),(0,1)
[-33]
[0,2]

A. The graph is increasingon | [-1,0],[2,3] .
(Type your answer in interval notation. Use a comma to separate answers as needed.)

A. The graph is decreasing on |[—-3,-1],[0,2] .
(Type your answer in interval notation. Use a comma to separate answers as needed.)

B. The graph is not constant on any interval.

(1) neither odd nor even.

ID: 1.3.25
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7. The function f is defined as follows.

1+x ifx<0
f(x) =
X2 ifx=0

(a) Find the domain of the function.

(b) Locate any intercepts.

(c) Graph the function.

(d) Based on the graph, find the range.

(a) The@orp_a_m-.bf the function f is |
(Type your answer in interval notation.)

v) e /ot irts )
: / i
(b) Locate any intercepts. Select the correct cho:ce below and, if necessary. ﬁII in the answer box to complete your choice.

Cire) (60) % '““,@,,,a
A, Theg;)t(s) is/are ) J O 0 % o Y L

(Typ ordered pair. Use a comma to separate answé)rs as needed.)

() B. There are no intercepts.

(c) Choose the correct graph of f(x) below.

.9 O A ) B.

(d) Thé range of the function f is ) — ( Lo ks i
(Typggbuf' answer in interval notatjon. )
Answers (- 00,00)

e mens s
o
A. The intercept(s) is/are | (-1,0),(0,0) . == \

(Type an ordered pair. Use a comma to separate answers as needed.)

P oyt
/Z (C{L,(‘ /
c. M ke //,-'
(- 00,00) gl = 2> -
__,—-//
ID: 1.4.37 g ek [0 IR
— T D P
,ﬂf——-f" !
— Oﬂ(ﬂf \
L/ —-——/~7‘/ ‘*(/CO) Ceely )
2 D YL 194 (7(/ :,"
i S/
%2 =S )/ e /)(>O) (l/(,((
7 of 28 B |2{16f20]9 10:39 AM
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8. The graph of a function f is illustrated to the right. Use the graph of f as the first step Ay
toward graphing each of the following functions. G-

(@) F(x)=f(x)+3 (b) G(x) = f(x + 5) (c) P(x) = = f(x) . §
1 & A {1 '1: hsr)
(d) H(x) = f(x +2) - 3 (e) Q) = 5 f(x) M g(x) =f(-x) R

(@) h() =(2x) =

(a) Choose the correct graph of F(x) = f(x) + 3 below.

e (d) Choose the cgljre}:t.

ph of- =f 2) -3 below. ,-—-—-—‘ . ]
p : /H.(% (X+ ) Q\e-_?_v_v_ (j) {’] I }_.{7“"‘_“ A __3 ‘E
! =

C.

1
(e) Choose the correct graph of Q(x) = Ef(x) below.

8 of 28
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b
6‘.

finalm1314COC029sulllljjRZZ29Z

(g) Choose the correct graph of h(x) = f(2x) below.

O A O B.

9 of 28 12/16/2019, 10:39 AM
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Answers

ID: 1.5.63
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9.
(a) Graph f(x) = |x + 2| - 3 using transformations. U_JL_\'
(b) Find the area of the region bounded by f and the x-axis 1 |
that lies below the x-axis. 8-

9 (a) Graph f(x). i

(Use the graphing tool provided to graph the function.)

?_-
(b) The area of the region bounded by f and the x-axis that | )
lies below the x-axis is | square units. e AT TS
(Simplify your answer.) 1o 8 & 4 -2 ?. 2 4 6 B 10

-4

-6

-$i-4

Answers

| B
L\/ t MG{UL\,
S /( e 4 I P = ,._,( L e o
ID: 1.5.81 X~ /'L""’( =

f ]y L i vro _
"?./ s N a— C}}: //}/a '{6 Ah J 44‘{
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"\ /é 2. 7/ i o
10. Find thegms. if any, of the quadratm unction using the@__adrahc formula _What are the x-intercepts, if any, of the graph
of the functioh? a 2) )1/7 C =Y

9 f(X)=2x2+9+10x /‘/_ —R< M 7"-( 2 "f/‘)/ *V/‘y ‘(/(2,(@») ,ﬂ/t)-,;,—({f_/_ac)_,.7t

N 4 7

Select the correct choice below and, if necessary, fill in the answer box to coglp!ele your choice.
(Simplify your answer, including any radicals. Use integers or fractions for any numbers in the expression. Use a comma to

separate answers as needed.) = —/ 0TV ’:}:_,07_—

A The zeros and the x-intercepts are different. The zeros are , the x-intercepts ’f—_z/—:
" are = —’/U"'ﬁ(_'/gf . /

) B. The zeros and the x-intercepts are the same. They are : _—;‘—_

(" ©. There is no real zero solution and no x-intercept. z —for ‘:’(7 6’?

7
-5+47 -5- «/—' - /u*ic 7

Answer: B. The zeros and the x-lntercapts are the same_They are

~ 2
C - ﬁ o= ) S ,u X(=5+1yT)
ID: 2.3.47 d ) () -

N

11. Find t@ms‘m‘ the functlon What are the x-intercepts of the graph of the function?

ﬁ aw=x-Tx-18 . A X = /""_//: =

Select the correct choice below and fill in the answer box to complete your choice.

¢ A. The zeros and the x-intercepts are the same. They are

The zeros and the x-intercepts are different. The zeros are , the x-intercepts
T are

B

(Simplify your answer, including any radicals. Use integers or fractions for any numbers in the expression. Use a comma to
separate answers as needed.)

Answer: A. The zeros and the x-intercepts are the same. They are 81

¥ : — ke |
)(*'" [§ = 70, 0 L s

ID: 2.3.75 / S/(\u,q
- — }j‘zrr(7(/,( -

(¢ ~/3)(X— /5)*(7)//‘/
/(i/i;i)///a’x —~+ 3¢ =(Y(7) (w)

,‘( —"36)(-4”2/“' ’(/9'/9()

¥ =3y 30 =59X
/ %X%Z%’—V?’/\/‘—ECJ>
vt —Fsx sy = (D

12 of 28 12/16/2019, 10:39 AM
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N =777 =
oK< 7/

(9-70% —/T=<

g —7(v) —/§= O

¢ —/¢—/¥= “ it
mfo=f1 T © @)
~2 3= 0
-

13 of 28
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(. & )
A¥/ For the quadratic function f(x) = x2 + 2x - 8, answer parts (a)

20~
_/ through (c). ;

16

(a) Graph the quadratic function by determining whether its 12_'-
graph opens up or down and by finding its vertex, axis of ]
symmetry, y-intercept, and x-intercepts, if any. 8

Does the graph of f open up or down? 4~

- F 587 P ki S N S5 N s s
down -
. -8
What are the coordinates of the vertex? d
_12.

The vertex of the parabola i is |

(Type an ordered pair. Use integers or fractlons for any -16+
numbers in the expression.)

20
What is the equation of the axis of symmetry?

The axis of symmetry is
(Type an equation.)

What is/are the x-intercept(s)? Select the correct choice below
and, if necessary, fill in the answer box to complete your
choice.

A. The x-intercept(s) is/are

(Type an integer or a decimal. Use a
comma to separate answers as
needed.)

B. There are no x-intercepts.

What is the y-intercept? Select the correct choice below and, if
necessary, fill in the answer box to complete your choice.

A. The y-intercept is
(Type an integer or a decimal.)

B. There is no y-intercept.

Use the graphing tool to graph the function.

(b) Determine the domain and the range of the function.

The domain of fis
(Type your answer in interval notatlon )

The range of f is
(Type your answer in interval notatlon )

(c) Determine where the function is increasing and where it is
decreasing.

The function is increasing on the interval
(Type your answer in interval notation.)

14 of 28 12/16/2019, 10:39 AM



finalm1314COCO029sulllljjRZZ29Z-Alfredo Alvarez https://xlitemprod.pearsoncmg.com/api/v1/print/math

Answers up
(-1,-9)

x==-1

A. The x-intercept(s) is/are — 4,2 !
(Type an integer or a decimal. Use a comma to separate answ

A. The y-intercept is |_ - -8 ].(Type an integer or a decimal.)

20

16-

(= 00,00)
[~ 9.00)
[-1,00)
(=00,=1]

ID: 2.4.37

/S‘;ILI ': }:! ?,)) ; v Sf% e 34#%/)
( At /////},Aﬂ

T —
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13.

-

16 of 28

For the quadratic function f(x) = - 2x2 +2x - 4, answer parts
(a) through (c). Verify the results using a graphing utility.

(a) Graph the quadratic function by determining whether its
graph opens up or down and by finding its vertex, axis of
symmetry, y-intercept, and x-intercepts, if any.

The graph of f opens (1)

https://xlitemprod.pearsoncmg.com/api/v1/print/math

hy

. r e
The vertex of f is : 10 -8 B

(Type an ordered pair.)

The axis of symmetry is -
(Type an equation. Simplify your answer)

Determine the y-intercept. Select the correct choice below
and, if necessary, fill in the answer box to complete your
choice.

A. The y-intercept is
(Type an integer or a decimal.)

B. There is no y-intercept.
Determine the x-intercept(s). Select the correct choice

below and, if necessary, fill in the answer box to complete
your choice.

A. The x-intercept(s) is/are

(Type an integer or a decimal rounded
to two decimal places as needed. Use a
comma to separate answers as
needed.)

B. There is no x-intercept.

Use the graphing tool to graph the function.

{b) Determine the domain and the range of the function.

The domain of fis
(Type your answer in interval notatlon )

The range of f is
(Type your answer in interval notatlon )

(c) Determine where the function is increasing and where it
is decreasing.

The function is increasing on the interval
(Type your answer in interval notation.)

The function is decreasing on the interval
(Type your answer in interval notation.)

P\I._)"

-10-

12/16/2019, 10:39 AM
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——i ———

7

c":’{r/f

. =
e I IC e el

- _
fx) = A 2

(1) O up.
() down.

Answers (1) down. {- = Z( ™ .
‘Fia v/ f\_ vy Ay . :
1 7 / - - / = :
( ] Y TR - c.lu o A Q/??g.,.// (JU». ’7/( ChH u,zj_ =

2" 2

) |
B e
= . "4_ e = /
iﬁsf':ﬁype-.an--fntéggr ora de%\n_u’afc)/ﬂ ’ -
)

X L_faz/
s

1
zﬁrff“i;

ID: 2.4.43 i -
/ ae—_ ("

")
e
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e —_.___:‘-“‘
14. Determine,,rwﬁﬂout graphing, whether the given quadratic function has & maximum/value or a minimum value and then find

N o . . . ; ;
the value. w;a-—w—‘? TV —¢ | ¥ s 2 e[r/ a f L5t ,L - 9 ¢ /A ¢ //""'-(’n < clutu =
>9 - L { - -
— =203 ) let @ e,
o= L= ¥, C=—>
Does the quadfatlc function fF‘ave a minimum value or a maximum va!ue'-’ /

3 o 7
() The function f has a minimum value: /47 b = |fes !l’ o ( //z/)> /

() The function f has a maximum value. )/ / » ( v ) 7/ (Y)\/
What is this minimum or maximum value? ( 7 (-1 } ] ( 2 3 a _ ) -\//‘,'-'4:? ,( ( ]| == f) )
. - [ / A
(/-f’;” L( X > - Y / r/ ."' / - _//
(Simplify your answer.) _'j( 7 Zk,«/ ( . ~

Answers The function fhas a maxlmum value. ( l //(* / J) R '
|/ 7 L7 |

\/HL{\( (’ -Z(f) t‘s'/!‘)'ﬁ)
ID: 2.4.59 (ae (I ~{(|)/;)«rf/fr)— )

=1

15 Find th vemcal onzontal an(bhque asymptotesyif any, for the fol!?w
P

20x VW-!( C it ( d}y /A/J\ f-( '] A 5 - s - )
ﬁ RO=3313 Y+13E0 )(—f/f-“lf Zd S

AN B —
Select the correct choice below and fill in any answer boxes within your choice. X / 5 B

wiui;'f'( ws- ,T«r -l i
() A. The vertical asymptote(s) is/are x = ( "‘ : / } j,., “3

—_— — ¥
=..,____.-f:3——.__ e i S

(Use a comma to separate answers as needed. )

_) i S% (I o b/
- ) B' There is no VBI’tiCS‘ asymptote. //'ls'l r ‘ t\ i \_.J‘ ( (5/ 5 ,// /

/7( 4(}/ %/(V{, /;U/J/z)

Select the correct choice below and fill in any answer boxes within your choice.

L
-~ — —
2 A. The horizontal asymptote(s) is/are y = 3 ,)(
(Use a comma to separate answers as needed.) ,{ d
{1 B. There is no horizontal asymptote. ’ ( ¢
Select the correct choice below and fill in any answer boxes within your choice. & 95 -
107 {LM—/L/ é§7 "fﬂ/’j( -j s ’2 (/)
) A. The oblique asymptote(s) is/are y = :

(Use a comma to separate answers as needed.)

1 B. There is no oblique asymptote. . R T I —‘x._____,/""— T e S
i T
Answers A. The vertical asymptote(s) is/are x = =13 'I'.(Use a comma to separate answers as needed.)
A. The horizontal asymptote(s) is/fare y = 20 .(Use a comma to separate answers as.needed )

B. There is no oblique asyr ptote. ,V, cr %)1)//3 /,/A,rf/ &) ﬁzﬂ 7
o my Gs h/;l/g# v v Ale / 3y

//1’:-1 /4,( (; Yo 01’3! A btf;_yj/_,/

ID: 3.4.45

_“‘—___—__—‘-H“—‘__ e \“\ -

S R e ——
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16. Forf(x) = 7x+ 9 and g(x) = 2x, find the following composite functions and state the domain of each.

(@ fog (b) gof (c) fof (d) gog

4 (@) fog)(x) = (Simplify your answer.)

Select the correct choice below and fill in any answer boxes within your choice.

19 of 28

A.

The domain of fo g is {x | }
(Type an inequality. Use integers or fractions for any numbers in the expression. Use a
comma to separate answers as needed.)

The domain of fo g is all real numbers.

(b) (gof(x) = ' (Simplify your answer.)

Select the correct choice below and fill in any answer boxes within your choice.

A.

The domain of g o fis {x | ¥
(Type an inequality. Use integers or fractions for any numbers in the expression. Use a
comma to separate answers as needed.)

The domain of g o f is all real numbers.

(c) (fof)(x) = | (Simplify your answer.)

Select the correct choice below and fill in any answer boxes within your choice.

A.

The domain of fo fis {x | }.
(Type an inequality. Use integers or fractions for any numbers in the expression. Use a
comma to separate answers as needed.)

The domain of f o f is all real numbers.

(d) (@og)(x) = | (Simplify your answer.)

Select the correct choice below and fill in any answer boxes within your choice.

A.

The domainofgogis {x | }
(Type an inequality. Use integers or fractions for any numbers in the expression. Use a
comma to separate answers as needed.)

The domain of g o g is all real numbers.

Answers 14x+9

B. The domain of f o g is all real numbers.
14x+18

B. The domain of g o f is all real numbers.
49x +72

B. The domain of f o f is all real numbers.
4x

B. The domain of g o g is all real numbers.

12/16/2019, 10:39 AM
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@4 1= 7%+ 9 al 560 zx\
Fo3)e9-
A(56)+ T

0 Mes

%(ZX)Z ‘ ? 0 )
(77 ("

/f/(%?‘v —-—“J;,LI-A@EQ

_——y
Wﬂ’/ 7/{/’755/,%_/ J(’()°“{\
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\ \
_ )2\9 function f(x) = 6x + 2 is one-to-one. Ay
" (a) Find the inverse of f and check the answer. 20
(b) Find the domain and the range of fand f ' 161
(c) Graph f, f~ L , and y = x on the same coordinate axes. 12;
-1 I 8-
anl) @F (0= ._
(Simplify your answer. Use integers or fractions for any 4
numbers in the expression.) ] x
. _ _ _ 20 16 12 8 4 1 4 & 12 18 20
(b) Find the domain of f. Select the correct choice below and, if e
necessary, fill in the answer box to complete your choice. ]
4
A. The domain is {x|x2 } 12
B. The domain is {x|x# 3 .
C. The domain is {x|xs }. 5pd
D. The domain is the set of all real S !
numbers. =g - : :
i il '(’ K~ L o
Find the range of f. Select the correct choice below and, if / ’Z ks
. . - . 7D as
necessary, fill in the answer box to complete your choice. / ﬁ G >[_,L Z % / /

o o w »

- - — 4L
Find the domain of f~ ' Select the correct choice below and, if )(~ Z - GJ
necessary, fill in the answer box to complete your choice.

O 0o ® »

Find the range of f 1 Select the correct choice below and, if -
necessary, fill in the answer box to complete your choice. /

A. Therange is {)’|¥2 }
B.

C. Therangeis {ylyS o }
D.

Inv Vv© "/r / A
S}t ,!;f/'; “

The range is {yly > |3 f

The range is {yly;e } ,.-'HI )< - () ) T (
The range is {y|ys 3. |'I ' )( -1 = ("(,] >

The range is the set of all real numbers.

YA

The domain is {x|x # 3 |’ ,(" é

| /——_——-
The domain is {x|x s }.
The domain is {x|x 2 } /
The domain is the set of all real 4
numbers. H (

Therangeis {yly# }.

The range is the set of all real numbers.
N

(c) Graph f, ", and y = x on the same coordinate’ axes. Use— it
the graphing tool to graph the functions. B =

22 of 28
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X—2
Answers 6

o
D. The domain is the set of all real numbers. V’ | C

D. The range is the set of all real numbers.

D. The domain is the set of all real numbers/ l/
/
’J'

D. The range is the set of all real numbgpaf

20 16 -

15-

] el~w{T/./ ~
207 X/ e "1 T -‘/ L ____-.-- -
7"\%)‘. X L) /L,
bt .
ID: 4.2.53 7 h ~{J

9= v b = /J

-18._ Solve the equation. ( 5) ~X ‘f“ﬂ"f ' \ /_f Ve s 'Z/ >, g
{
ﬁ 327X+ 48 o 18X &/ W/\ e ) , \

The solution set is {|
(Type an integer or a simplified fractlon Use a comma to separate answers as need

:);\-. Ix + 25{@ 7x

Answer: 20

-

ID: 4.3.73 —s ¥ s T 7)(
=5 X F X/ = T~y
=S5 XN LYo
~Sx =X TN~ —)x
—~(L X T =40
| LK — A

lf
t'_‘_________.

--'I’L “"( (=

- :
< (=20

~. ——— e — e — R -——""__.._'-_-.___-_-_-__‘_-__‘_' e
230f28 e I g 12/16/2019, 10:39 AM ™
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(C/j( ey 8
ZM
Change the given logarithmic equation to exponential form. . S’ C/ /
;2 < X3 &_/
(Type an equati;)n Do not simplify.) 2 o Je e Z s = ¢ X—fF 5
The solution set is { 3. 3 { = ¥ X=X

19. Solve the equation,

log,(4x+3)=5

;lﬁ

(Simplify your answer. Use a comma to separate answers as needed.) ¢ . / = /
5 —F TYiph
Answers 4y 4 3 = 2° 2 o — Y X
} g )
29 g
T BT ﬂ

e
g‘ _,‘_-“-:\
ID: 4.4.91-Setup & Solve ,zj—:)( ' )

20. Write the expression as a sum and/or difference of logarithms. Express powers as factors.

X(x+4)
q |°g|: 15:|')(>0

(x+6)

4 —_—
log l Xt 1;] = (Simplify your answer.)

(x+6)

Answer: log x+ log (x +4) - 15log (x + 6)

ID: 4.5.51
/ v {/ \

Ly Cotea )= s

/0) /X(/fc/)) — (,0( (J/ﬂy =
(USM% /4////74/)

/s
(/U) ()(7‘(:) =

£ 3—_‘“-__ —
al (o (7‘/ 65/4//"—(0// a
iy o) <Lt + () )
ZU} V’ Y= Lo (/J ) S

e — e e

e —
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21. Solve the logarithmic equation. )() ()('/ 5/ f/ t}l //7( = (( C ) (( [C
q log x+ log (x+48) =2 /() i X()//C/X) (Zuj&/"f(oj ((-fY//'" (.

Determine the equation to be solved after removing the logarithm.

o\ (y1l (s

(Type an equatibn. Do not simplify.) (7 vl )( (= ~F y‘f’/ —f D & szu / O'Uu,/ 7/(//
Select the correct choice below and, CIS necessa (y )<ﬁll inthe a j z<box to com lete your éhouce e

*-f- Sb /@(—Sc}—([o)/jb-ry/) ?
) A. The solution set |s{ i ( < C){( )( 3507 ¢
(Simplify your answer. Type an exact answer. Use a comma to separate answers a ((}j /*-YU/V/( ¢y / Z) .

needed.) - L_(_R v O Xt SU-sv= u/

() B. There is no solutiop X" lLé(’}é‘y C/m] /Z ]D @ 2)

S ah S, -
Answers x(x +48) = 10

A. The solution set is { ’- <’ % ¢ ( k/ / ’( )( & L{ /}

u (Simplify. your answer. Typi an exact answer. Use a cﬂm_nj@\_to separate answers as needed.)

\ Gl Lot Sl lr)) &7

ID: 4.6.17-Setup & Solve /

—

—

22. Find the amount that results from the given investment.

e, — —

=\ = ‘
9( $300 mvesteé % mmpounde@aﬂeny -after a pen0t<f 3 years b

= n
7 2,-(.07
After 3 years, the investment results in $ | - ~ 57 / ]
C\{f-‘\l S
(Round to the nearest cpnt as need df =" . A C / )
A‘(r l 7 /(,J /,-'J‘

nswer: __\"} O = ,(}/ ‘7’(5) 25
A 369.43 /_/) 5U (‘[ f (f (

ID: 4.7.7 /} guu({“’/ L .
- 4.7. g

~ A 200 .QH

_ ) — .
qS _How long does it take for an investment t double m value if it is mvested@'é%_ mﬁipoundedmnthfy?(ﬁempounded_m y
A )

( contmuously'? =

y ,)\ At 9% compounded monthly, the investment doubles in about ' years. ﬁ ’1200 Q -
\(Round to two decimal places as needed.)

P E(0 @ (\umjﬂ G )
t 9% compounded continuously, the mvestment-duublesinxaﬁbout years. ‘ ol

(Round to two decimal places as needed.) A | )
/
) - L

/ (/4 /j//—r B
W\Tnswers;: ZUO > /T)(]f /£

¥ ,C)(
&\’"&( 4.7.35 *_:}____ il /C);J(/H{ jlj)
243
/

2D ; —

2= (I+ 3

250f 28 12/16/2019, 10:39 AM
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9 zpe 3
24. How many years will it take for an initial investment o $10 090/ t&groz l&$2$ UQQ'L Assume a rate of interest( 1%
—Eompounded continuous /(
Rpouded conimBBR ) GO0 = J oo (= ~THL(25) < 11 ¢ Fntes
It will take about years for the investment to growto $25, 000 /(/ ( 2o ) = . /| é( /)

(Round to two decimal pIaces as needed)/ oo ( /b,é/\, /Z g') - /((

Sy _—_/_,
prower: 8.3 '/" bor S0 S O i i1 o
ST & v /| _ -
S
|D4741/%,(ZS) //C) Zo%‘i@_l‘g;_,_{__%’?f&é

g

~

25. The population of a colony of mosqwtoes obeys the Iaw of umnhlblted growth Use th|s |nformat|on to answer parts (a)
through (c). oL <L— | Ce
Ga) tf N is the population of the colony and tis the time in days, express N as a function of t. Consider N, is the original
_amount at t=0 and k# 0 is a constant that represents the growth rate.

. N(t) =| i(Type an expression using t as the variable and in terms of e.)

o L LICE it
{b) fhe pufattpn,of.a colonygf mosqurtoes obeys the law of uninhibited growth. If there re 1000 mosquitoes initially and
re ar 1700 er 1 day. what is the size of the colony at!’er 4 days? -

Approxmately | mosquitoes.
(Do not round until the final answer. Then round to the nearest whole number as needed.)

= e T ¢
‘E (c) How long is it until there ar@,ﬁﬂ@squitoes? CR (e

About | days.

(Do not round until the final answer. Then round to the nearest tenth as needed.) 5
-3 — - 3 4

C
Answers N, ¢ kt

8352

4.3

ID: 4.8.5

/vy - Jfdyo C

u-fg\ ( /“' 7 12/16/2019, 10:39 AM
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/‘:"&q, =
26. Soh.fe the system of equations. If the system has no solution, say that it is mconsnsternl l 7\,( < C( /
= 3 i Z - ; e C/ .-""’/ - : ’
2x -5y=-4) | Z X 7 7 g .__(___/_5. . 7 /
< —+ jonil ¢
5x +y =17/ § X 3 —,; <7 ¢7

7){’7‘0

A. The solution of the system is x = andy= T}’;’L{ i ‘.)X"‘ =~
(Type an integers or simplified fractions.) 7

B. There are infinitely many solutions. Using ordered pairs, the solution can be wrltlen _
{xy)1x= .y any real number}. S Y |
(Simplify your answer. Type an expression using y as the variable as needed. ) ( = / 7/(,/ "‘/ — G

i . —_ /;
Answer: A. The solution of the system is x = 3 andy= 2 /—j'
(Type an integers or simplified.fractions.)-- .

-
ID:6.1,33<X/XL?F)J;(% Z})F?:\; /E/()ﬂf,% _

N e

27. Solve the given system of equations. If the system j/as no solutlon say that it is anonsrstelrp (',/ - é
f }4" ctry J 3 sty
e 4 ) +, iy ¢
X+ y+ z= //IS / ‘_Z- 3 /d] 5 =
—3x+2y-2z= -21 2 s G
-3 <& L 2/

Select the correct choice below and fill in any answer boxes within your choice.

() C. The system is inconsistent.

A. The solution is x= Y= ,andz= . (Typ
integers or simplified fractions.)

B. There are infinitely many solutions. Using ordered triplets, they can be expressed as
{(X y.2) | X= Y= , Z any real number}

(Simplify your answers. Type expreésmns usmg z as the variable as needed. )

C. There are infinitely many solutions. Using ordered triplets, they can be expressed as
{ixy.2) | x= . yany real number, z any real number}.
(Simplify your answer. Type an expression using y and z as the variables as needed.)

D. The system is inconsistent.

Answer: A.
The solution is x =/ 3 ', y=:_ -3 ' ,and z= 3 . (Type integers or simplified
fractions.) ) » - _
2 it 275 /“:.:/4/ rve ()
: )
ID: 6.1.45 .-\.!U /’Z-fLJ; ;
—— P
V re ?‘/ ( CH J ) {, /é
/0 o \ o
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et

28. Solve the equation. }?:—'- X+
s 3 7 (xst)=3(30~<) Cross oM >

Select the correct choice below and fill in any answer boxes in your choice. Z )(

é 3x-4 x+2 = G~ (T _
Farfy | //(,// =G AL~ L~/
J A. The solution set is{ } (Simplify your answer.) ({X; (*(;//(:_ Cj f’/”‘%(

() B. There is no solution. f )( == f
—(X==77
Answer: A. The solution set |s{ |. (Simplify your answer.) _ / A _/5’4{_
' /

_.// - .
ID: A.8.35 ()’(,;Z;’%;j

29. Find the real solutions of the equation.

St <y [ 1
6+ 42X+ 3 =x g VZ)((Z. AN €4 /4

A The solutlon set is { }

W A d‘e“ J
(Slmpllfy your answer-- co . separate answers as neede
e M 6t (oxes © %z\t?/
)4 (g | LIS AT
(Vexrs. /63 <7 j/ V
ZX4}“//</G)//’ (,-rU‘Z)"F’\ 3 / fkf
3= ¥ 'C)(f'“é/"fjé 6377
2Ars =X U A3 \
Of/ﬂ(usfﬁ(;#z«’b s ~~ g by /K
= /v%%%ﬁ 9 6'7( « = //

§ = (%#3)6{""{ \ [l = // L
(—3=0 o~ X~/ e

§ — 3%3 o)t 3s O '/(—f//; ” ~
Agf2 23(, I(? % é// ((é G’CA L’XTDW.%}KM

7
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